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PHENIX U+U Run Status Report (5/8) PH*ENIX

Xiaochun He

* PHENIX is smoothly sailing on taking U+U data, especially
over the past a few days! We are expecting to be able to

reach our goals.
* New challenge is to process the data with many tracks in
events before the local data buffers are filled up. We are

only able to process about 10% of the recorded data in
the counting house before sending the data to RCF.

e A few comments about collision vertex distributions seen
in PHENIX.
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Sampled Integrated Luminosity
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It is harder to make acceptance corrections for certain physics analysis
with very wide vertex distributions.

COLLISION VERTEX DISTRIBUTIONS
SEEN IN PHENIX
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PHENIX Runnumber
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Vertex Distribution (|z|<12 cm)

Narrow VTX Distribution in PHENIX
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VTX Distribution in PHENIX (|z| < 30cm)
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Collision Vertex Distributions

| BBC ONLINE MONITOR |
Run #371196 Events: 32503 Date:Tue May 8 03:23:34 2012
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| BBC ONLINE MONITOR |
Run #371203 Events: 205990 Date:Tue May 8 09:44:14 2012
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Collision Vertex Distributions

| BBC ONLINE MONITOR |
Run #371196 Events: 32503 Date:Tue May 8 03:23:34 2012
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Run #371203 Events: 205990 Date:Tue May 8 09:44:14 2012
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